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BOTANY
Paper I : Plant Physiology : Biochemistry and Bmtechnolugy

Ae—@ue ‘31’ (Sgfawedld 991) 9 @ue 'q' (9 39049 I) ¥ |t el
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Section—A 1x10=10

1. The correct expression of a fully turgld cell is : "i'\“f TR Wﬁ'l'ﬂﬁl’ &l
WET wH e F—
(a) DPD=0OP (b) DPD =TP (c)DPD=0 (d) DPD = TP + OP.

2. Pulsation theory of ascent of sap was given by : ¥<+ fagr f=1 =

e an—
(a) Dixon %am ' (b) Munch §59
(c) Godlewski Tiafa&ht (d) Sir J. C. Bose TR 1. €. S19 |

3. When stomata open in night only, they are called : F&@ {@ ¥ G

© I Y FEed §—

(a) Photoactive e1¥ ®fsha (b) Hydathode fa~gg@@

(c) Scotoactive THI-|fFg (d) All of the above 394w HT |
4. Common deficiency symptoms of Nitrogen and Sulphur is.........
SIS d HeHL Bid] 1 T &g Tl

5. Inhibition of photosynthesis in high concentration of O, is called

'ogﬁﬁmﬁmWﬁmﬁm%—

(a) Warburg effect 9R&F 1@ (b) Emerson effect 39387 9419

(c) Pasture effect U&=R Y94 (d) Kutusky effect Fe&eh! U9ME |

6. In TCA cycle, how many reduced co-enzymes are produced from
one molecule of Acetyl CoA : TCA 9% H & THIEA FHIT~MH ¥ fahaa
SqEd HIT<TZH T &— .

(a) SNADH,, IFADH, (b) 2NADH,, IFADH,

(c) 4NADH,, 2FADH, - (d) SNADH,, IFADH,.

7. Which of the following is growth measuring instrument ? gfg A=

- S e 2 —

(a) Auxanometer m (b) Potometer QI2IHIR
'(c) Barometer ST (d) Psychrometer QISshIHIX |

8. Water available to plants is~ 9% 91 5/&1 W &3d §—

(a) Capillary water BRI A (b) Hygroscopic water STEUTET Wcl
(c) Gravitational water 7[od 51 (d) All of the above ?q'fi?b' Tt |

9. Cholodny-Went theory is relatd with : &icreq-a= fagra f=1 @

weaf4a g—

(a) Photorcspxraﬂon WeTYT4 Y9 (b) Phototropism BEANIGERE

(¢) Photosynthesis FehT9l- H¥eTg0T,

-(d) Photomorphogenesis Y&RTa o= fas |

10. An application of modern biotechnology is : =1 & 3y S9
TreNfient 1 wEnT g 8—

(2) Recombinant vaccines I3ANTS a6 (b) Gene therapy SiH IUER
(c) Production of humilin g ~e1gT (d) All of the above I9F Tl |
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. Section—B 2x5=10
1. Plasmolysis. Sit9 o359 | _
2. Antitranspirants. Sfaarsqicsia |
3. Transpiration pull. STsilegs 379y |
‘4. Blackman’s law of limiting factors. SA&HA & ‘\q"’mﬁiﬁ & 6
T
CAM plants. &5 99 |
Respiratory Quotient. ¥995 4% |
Biological nitrogen fixation. Sifa® TR ARt |
Ethylene. 3UIE&HA |
. Agrobacterium. 'Q?JI‘T JEIfEH |
10. Photo phosphorylation. TeTeT HIERITAYH | _
* Section—C 10 x3=30
I. What are enzymes ? Classify enzymes and explain mechanism of
their action. fa&X &1 § ? 901 grifertar 3 wrdfafy afawar awEmu|
2. Give details of C4 cycle of carbon assimilation in plants and
differentiate C, with Cy plants. 4ei ¥ e @ilieht0l & C, dh 1 IUMA
IS qen C, 9 C; Tl § 37 Famy
3. What 1s Glycolysis 7 Outline the various steps in Glycolysis and

discuss its significance. THIgHICIIGT 1 ¥ ? 396 fafw= Wﬁ &I TS
TOF HRe Hi TalEy |

4. Write explanatory notes on : dfawar feouit fafae—

(a) Photoperiodism Sifshifct®, (b) Tropic movements of plants 4ta}
1 AT Al |

5. Write an essay on genetic engineering. SiH 3yt W & framy
fef@u |
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